Adda247

MP Police Subedar,
SI and
Platoon Commander
Previous Year paper
13th September 2016
Shift 1

(1)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

Addai2417

Police Recruitment Test : 2016
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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

She____ no longer contain her anger and shouted at him uncontrollably.
* could
* must
* might
* may
Correct Answer :-could
2)
Question Stimulus :-

Fill in the blank with the correct option.

In theory, women _____ still have children at the age of 50.
®* can
* must
* dare
* need
Correct Answer :-can
3)
Question Stimulus :-

Fill in the blank with the correct option.

We asked if the computer access the internet.

e could

()
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* should

* must

e ought to
Correct Answer :-could
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

The commercialization of football has turned it from a sport a business.
® in
® on
e at
* into
Correct Answer :-into
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

The river is flowing ____ the danger level.
* beneath
* along
®* across
e above
Correct Answer :-above
6)
Question Stimulus :-

Fill in the blank with the correct preposition.

Over time, their acquaintance developed a lasting friendship.
3)
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* into

* for

e from

® across
Correct Answer :-into
7)
Question Stimulus :-

Fill in the blank with the correct preposition.

The car skidded and went out _____control, crashing _____an oncoming truck.
e of, into
® in, to
°* to,in
e off, across
Correct Answer :-of, into
8)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e We've just
e appointed a coordinator
e who will oversee whole project.
®* No error
Correct Answer :-who will oversee whole project.

9)

Question Stimulus :-

(4)
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DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* An embryo is created
e through the union
e of a sperm and an egg.
* No error
Correct Answer :-No error
10)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

® The standard unit

e of currency

® in USis the dollar.

* No error
Correct Answer :-in US is the dollar.
11)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If I had a lot of money,
e I would have done a lot of charity
* to the poor and handicapped people.

®* No error

Correct Answer :-No error

12)
(5)
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Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If she have worked hard,

* she would have

* topped the university.

* No error
Correct Answer :-If she have worked hard,
13)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’'.

e If he drives fast,

®* he can reach

® the station on time.
* No error

Correct Answer :-No error

14)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e It has been raining
e continuously
® since last twenty days.

* No error

(6)
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Correct Answer :-since last twenty days.

15)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Unless there is not

* an emergency at home,

e I do not take a leave and sit at home.

* No error
Correct Answer :-Unless there is not
16)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The man said to the Judge, "I did not commit this crime”.
e The man told the Judge that he did not commit this crime.
e The man told the Judge that he has not committed this crime.
* The man told the Judge that he had not committed that crime.

e The man told the Judge that he has not committed that crime.

Correct Answer :-The man told the Judge that he had not committed that crime.

17)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Our teacher said, "We have to finish this work today as we know that tomorrow never
comes”.

® Our teacher said that we have to finish this work today as we know that tomorrow
never comes.

(7)
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®* Our teacher said that we have to finish that work that day as we know that
tomorrow never comes.

®* Our teacher said that we were to finish that work that day as we know that
tomorrow never comes.

®* Our teacher said that we had to finish that work that day as we know that
tomorrow never comes.

Correct Answer :-Our teacher said that we had to finish that work that day as we
know that tomorrow never comes.

18)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Rehman said, "I haven’t taken any exam this year but I intend to take two exams the
next year”.

¢ Rehman said that haven’t taken any exam this year but intends to take two
exams the next year.

e Rehman said that hadn’t taken any exam this year but intends to take two exams
the next year.

¢ Rehman said that hadn’t taken any exam that year but intends to take two exams
the next year.

e Rehman said that hadn’t taken any exam that year but intended to take two
exams the next year.

Correct Answer :-Rehman said that hadn’t taken any exam that year but intended to
take two exams the next year.

19)
Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

The builders have built a perfect dam across the stream.
¢ A perfect dam had been built by the builders across the stream.
e A perfect dam has been build by the builders across the stream.

e A perfect dam have been built by the builders across the stream.

(8)
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e A perfect dam has been built by the builders across the stream.
Correct Answer :-A perfect dam has been built by the builders across the stream.
20)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

After taking him to the hospital, I dropped him at his place.
e After been taken to the hospital, she was dropped at her place by me.
e After being taken to the hospital, she was to be dropped at her place by me.
e After being taken to the hospital, she had to be dropped at her place by me.

e After being taken to the hospital, she was dropped at her place by me.

Correct Answer :-After being taken to the hospital, she was dropped at her place by
me.

21)
Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Physically challenged people should not be laughed at by the public.
e The public cannot not laugh at physically challenged people.
e The public could not laugh at physically challenged people.
e The public shall not laugh at physically challenged people.
e The public should not laugh at physically challenged people.
Correct Answer :-The public should not laugh at physically challenged people.

22)
Question Stimulus :-

Choose the grammatically correct sentence out of the given options.

e We should take an healthy breakfast in the morning.

©)
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® We should take the healthy breakfast in the morning.

* We should take a healthy breakfast in the morning.

e We should take healthy breakfast in morning.
Correct Answer :-We should take a healthy breakfast in the morning.
23)
Question Stimulus :-

Fill in the blank with the correct option.

I have kept ___ sharpened pencils and erasers in his pencil box.
o few
* afew
* the few
* a little
Correct Answer :-a few
24)
Question Stimulus :-

Fill in the blank with the correct option.

Yourroomis ____ more comfortable than my bedroom.
* little
* a little
® the little
°* afew
Correct Answer :-a little
25)
Question Stimulus :-

Fill in the blank with the correct option.

Students who were sitting in the class stood up and greeted the teacher.

(10)
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* Few

e A few
®* The few
* A little

Correct Answer :-The few

26)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Why do students become a bully? Bullying is a big problem. It can make kids feel hurt,
scared, sick, lonely, embarrassed and sad. Bullies might hit, kick, or push to hurt
people, or use words to call names, threaten, tease, or scare them. A bully might say
mean things about someone, grab a kid's stuff, make fun of someone, or leave a kid
out of the group on purpose. Some bullies threaten people or try to make them do
things they don't want to do. It is often seen that in schools most classes have group
of students who are bullies. Who are they and why do they act in that particular
manner? Bullies are children who like to dominate others. Bullies are often children
who want to feel important and want to make themselves popular. Bullying children
who are weaker than themselves makes them feel big and powerful. Many a times,
bullies are just insensitive children who know that it hurts their victims but they
continue to do it anyway. Some children who bully are attention-seekers. Children who
do not get emotional support at home and are not given attention at home may try to
attract attention towards themselves in the classroom through bullying. In some
cases, a child who is bullied, sometimes ends up bullying others. Some bullies come
from families where everyone is angry and shouting all the time. They may think that
being angry, calling names, and pushing people around is a normal way to act. Some
bullies are copying what they've seen someone else do. Some have been bullied
themselves. Sometimes bullies know that what they are doing or saying hurts other
people. But other bullies may not really know how hurtful their actions can be. Other
factors such as teacher's indifference to the victims and bad disciplining by parents of
bullies can also cause bullying.

What is the meaning of the word 'bully' or 'bullying'?

®* To use superior strength or influence to intimidate someone or to force
someone to do something

e A way of entertaining someone
* A way of arousing interest in someone or something

* None of the above

(11)
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Correct Answer :-To use superior strength or influence to intimidate someone or to
force someone to do something

27)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Why do students become a bully? Bullying is a big problem. It can make kids feel hurt,
scared, sick, lonely, embarrassed and sad. Bullies might hit, kick, or push to hurt
people, or use words to call names, threaten, tease, or scare them. A bully might say
mean things about someone, grab a kid's stuff, make fun of someone, or leave a kid
out of the group on purpose. Some bullies threaten people or try to make them do
things they don't want to do. It is often seen that in schools most classes have group
of students who are bullies. Who are they and why do they act in that particular
manner? Bullies are children who like to dominate others. Bullies are often children
who want to feel important and want to make themselves popular. Bullying children
who are weaker than themselves makes them feel big and powerful. Many a times,
bullies are just insensitive children who know that it hurts their victims but they
continue to do it anyway. Some children who bully are attention-seekers. Children who
do not get emotional support at home and are not given attention at home may try to
attract attention towards themselves in the classroom through bullying. In some
cases, a child who is bullied, sometimes ends up bullying others. Some bullies come
from families where everyone is angry and shouting all the time. They may think that
being angry, calling names, and pushing people around is a normal way to act. Some
bullies are copying what they've seen someone else do. Some have been bullied
themselves. Sometimes bullies know that what they are doing or saying hurts other
people. But other bullies may not really know how hurtful their actions can be. Other
factors such as teacher's indifference to the victims and bad disciplining by parents of
bullies can also cause bullying.

Which word in the passage means 'lack of concern or thinking for others'?
¢ Indifference
® Scared
* Threaten
* All of the above
Correct Answer :-Indifference
28)

Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

(12)
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Why do students become a bully? Bullying is a big problem. It can make kids feel hurt,
scared, sick, lonely, embarrassed and sad. Bullies might hit, kick, or push to hurt
people, or use words to call names, threaten, tease, or scare them. A bully might say
mean things about someone, grab a kid's stuff, make fun of someone, or leave a kid
out of the group on purpose. Some bullies threaten people or try to make them do
things they don't want to do. It is often seen that in schools most classes have group
of students who are bullies. Who are they and why do they act in that particular
manner? Bullies are children who like to dominate others. Bullies are often children
who want to feel important and want to make themselves popular. Bullying children
who are weaker than themselves makes them feel big and powerful. Many a times,
bullies are just insensitive children who know that it hurts their victims but they
continue to do it anyway. Some children who bully are attention-seekers. Children who
do not get emotional support at home and are not given attention at home may try to
attract attention towards themselves in the classroom through bullying. In some
cases, a child who is bullied, sometimes ends up bullying others. Some bullies come
from families where everyone is angry and shouting all the time. They may think that
being angry, calling names, and pushing people around is a normal way to act. Some
bullies are copying what they've seen someone else do. Some have been bullied
themselves. Sometimes bullies know that what they are doing or saying hurts other
people. But other bullies may not really know how hurtful their actions can be. Other
factors such as teacher’s indifference to the victims and bad disciplining by parents of
bullies can also cause bullying.

Why do senior students bully?
* They want to seek attention
* They derive pleasure in dominating and belittling others.
®* To gain popularity
e All of the above

Correct Answer :-All of the above

29)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Why do students become a bully? Bullying is a big problem. It can make kids feel hurt,
scared, sick, lonely, embarrassed and sad. Bullies might hit, kick, or push to hurt
people, or use words to call names, threaten, tease, or scare them. A bully might say
mean things about someone, grab a kid's stuff, make fun of someone, or leave a kid
out of the group on purpose. Some bullies threaten people or try to make them do
things they don't want to do. It is often seen that in schools most classes have group
of students who are bullies. Who are they and why do they act in that particular
manner? Bullies are children who like to dominate others. Bullies are often children
who want to feel important and want to make themselves popular. Bullying children

(13)
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who are weaker than themselves makes them feel big and powerful. Many a times,
bullies are just insensitive children who know that it hurts their victims but they
continue to do it anyway. Some children who bully are attention-seekers. Children who
do not get emotional support at home and are not given attention at home may try to
attract attention towards themselves in the classroom through bullying. In some
cases, a child who is bullied, sometimes ends up bullying others. Some bullies come
from families where everyone is angry and shouting all the time. They may think that
being angry, calling names, and pushing people around is a normal way to act. Some
bullies are copying what they've seen someone else do. Some have been bullied
themselves. Sometimes bullies know that what they are doing or saying hurts other
people. But other bullies may not really know how hurtful their actions can be. Other
factors such as teacher's indifference to the victims and bad disciplining by parents of
bullies can also cause bullying.

What are the factors that lead some children to adopt the hateful process of bullying?
* Neglect and indiscipline at home and indifference or carelessness in school.
* The command of the school authority
* The desire to take revenge

* None of the above

Correct Answer :-Neglect and indiscipline at home and indifference or carelessness in
school.

30)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Why do students become a bully? Bullying is a big problem. It can make kids feel hurt,
scared, sick, lonely, embarrassed and sad. Bullies might hit, kick, or push to hurt
people, or use words to call names, threaten, tease, or scare them. A bully might say
mean things about someone, grab a kid's stuff, make fun of someone, or leave a kid
out of the group on purpose. Some bullies threaten people or try to make them do
things they don't want to do. It is often seen that in schools most classes have group
of students who are bullies. Who are they and why do they act in that particular
manner? Bullies are children who like to dominate others. Bullies are often children
who want to feel important and want to make themselves popular. Bullying children
who are weaker than themselves makes them feel big and powerful. Many a times,
bullies are just insensitive children who know that it hurts their victims but they
continue to do it anyway. Some children who bully are attention-seekers. Children who
do not get emotional support at home and are not given attention at home may try to
attract attention towards themselves in the classroom through bullying. In some
cases, a child who is bullied, sometimes ends up bullying others. Some bullies come
from families where everyone is angry and shouting all the time. They may think that
being angry, calling names, and pushing people around is a normal way to act. Some

(14)
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bullies are copying what they've seen someone else do. Some have been bullied
themselves. Sometimes bullies know that what they are doing or saying hurts other
people. But other bullies may not really know how hurtful their actions can be. Other
factors such as teacher's indifference to the victims and bad disciplining by parents of
bullies can also cause bullying.

‘Bullies might hit, kick, or push to hurt people, or use words to call names, threaten,
tease, or scare them’. What does the idiom ‘call names’ mean?

® To abuse someone
®* To greet someone
* To embrace someone

® None of the above

Correct Answer :-To abuse someone
Topic:- Hindi
1)

Question Stimulus :-

?ﬁyﬁ@awﬁﬁmﬁwmﬁﬁﬁﬁaﬁﬁwwﬁwmwm
|
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QT ¢ O gudl 3R HIFG Yedi & 31 g1 I 9wl SRR ¢ gidl o Y81 81 3 Ao 3R
e Tt 1 SR e &1 a7 fae iR AR & @t $R Yifas wWr § Sa1 I &1
Tad $X ¥ET 81 98 ghadT U4 &t aredr d 3fa iR ergfua 3t fRiar 7 wwan S O 99 91 @) 9=
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qT-AY FU B Wl A T - gfF BT U X 38T 31 S g9R A 98 UgE 99T § f6 39
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o fogm 3t Suafsral &1
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Correct Answer :-ITHTS 3R e TaRanai &1

2)
Question Stimulus :-

FrafafEe e o aryde yea 3ud A o T sgfasal u=al o 98 faweu 1 9a9 &4

MYf® ATa TUTS ¥ T 3R fag= ) ot afea v 3 ardl Suafsl & fFRaw awar #1 faera @
QT ¢ @ gudl 3R "I Yedi &l 31 g1 I U™ SRR ¢ gidl o g1 81 3M® arHIee 3R
it Tawstt o1 ReR ome #1999 f4d® iR HMER! & @ R Wifds WX A a1 383 o1
Tad $X ¥ET 81 98 FhadT Ui+ &t aredr d 3fa iR ergfua 3t fRiar 7 wwan S 9 99 91 @ U=
P! UTd 0T Y84l 21 Uxad ot Uiy & e ag W SrR1y &1 # Y dhe 98Y +eanl a8 9% fAa
IC-T FU FI Tl HeA | AT g BT 3Teqg HX 78T 81 TS AR JTHA I8 vgE g0 § 7 59
ARTY IR W 5T UPR AP T AT YR, FaA-WRTAUET, IR 3fe Afaw geat &t faarsfa
TP U & & Pt BTHAT AT WGW TTH 2

1ifers TR A S $67 & 1T a7 71 % @ 2
o T BT fIpTa B e 8
o g PR
o 3% 3R U B AR RET &

o Ungd H T IBT 8
Correct Answer :-f33® 3R SHTFER] & AR IET &

3)
Question Stimulus :-

FrafafEa i o wFyde yeat 9@ A fod 1 sgfawalt u=Al o 98l fawen o1 999 S|

MYf® AT TUTS # T SR fag= & ot afea ov 37 ardl Suafeal 9 fFRay awar &1 faera @
TET g df gt 3R 9Td g&l $T 319 g O GU™T SRR g gidt o I8t g1 3F® ATaTre SR
e Tawmnat o1 ReR o 1 999 f4d® iR HHER! & @ R Hifds WX d a1 34 &1
T HX ¥ET 81 98 g adr U4 &t arer § 3fa iR ergfua 3t fRiar 78 wwan 3@ 9 99 91w @ [
P Ugd 331 ¥gd! 21 Uad @) Uity & foe 98 Haee ruRTy 4 # Y o T8t +earl 98 5% fAd
A-U & Pt W HA | AT g BT 3Ierg FR QT 21 3 gHR I 98 TS 90 ¢ 59
ARTY I W 5T THR AP TNE AYI AR, FdA-IWRIAMEI, AN e Afad geai & foarsfa
I AT & G& Pt STHAT H1 W UTH B

Afae gea @ 32
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o WEMR, HId-WRIAVT, TN

o ifo® TR A ST IS

o WAl T fadry BT

o AWl T AT
Correct Answer :-UgTHR, Hdod-URTIUTdT, T
4)

Question Stimulus :-

Frafafea i o aryde yee 3ud A fod T sgfawalt u=al d 98 fawew &1 999 S|

YIS AT 99T | TP AR fage &t o afea &¢ 37 arell Iuafl § fFRar awar &1 9o &t
TET & @ O 3R U9 el #1 31 B9 ¥ JUTT IR g Sl o I g1 3 AT SR
e Tawmnst o1 ReR o 1 999 f4d® iR HHER! & @ R Uifds WX d a1 384 o1
WA 7 IGT 81 98 A adl U #t arer d 3fud iR ergfua &t fiar 98 owan 39 af 59 W & uH
P UTd 3T Ied! 31 Vet Bt Wity & I a8 HodR RTy o § ot Jora 7 vanl a8 37 fAa
qT-T Ul B Wl e | U g T 3Usqg HX 8T 31 3T U JTHA T8 TgE 991 § fo 59
ARTY T W fFT THR AP TS AW FeER, FdA-IWRIAET, AR 3fe Afas geal & foarsfa
AR GUTS & J@ B! HIHAT BT W9H {417 8

3MYIH I I Yad TeOT FT 5l 82
o fa@ra B
o T B! UMT
o SURTY HRAT
o Ifa-srgfua $t fiar 7w
Correct Answer :-8T¢0 & UET
5)

Question Stimulus :-

Frafafe e & aryde yea 3ud A fod T sgfasal u=al o 98 faweu 1 9a9 S|

MYf® ATFa TUTS ¥ T 3R fag= & ot afea ov 39 ardl Suafsal 9 fFRav awar 1 faera @
TET ¢ O guil 3R "I Yedi &l 31 g1 I 9T SRR ¢ gidl o 3§ 81 3 Ao 3R
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e Tt 1 PR e &1 a7 f[Ga® iR AR & @t #X Yifas wWr § a1 I &1
Tad $X T8 81 98 g adr Ui &t aredr § 3fa iR ergfua 3t fRiar 78 wwan S 9 99 91 @) A
P Ugd 331 Y8l 21 U2ad &t wifty & foe 98 Hadee ruRTy 4 # Y g T8t #earl 98 59% fAa
qT-AY FUl B Wl A T U gfF BT g R IeT 31 3 g9R A 98 UgE 99T § fp 39
IRTY g W fHa PR JP TS AU ISR, FAA-WRIAVET, AT 3fe Afds geai &t faarafa
I AT &S GG Pt BTHAT H WH UTH B

51 9IS & WTTHR THTS & GG B HTHAT BT 7Y 72
. A T
o WY i
o Uzad

Correct Answer :-Afd® o4

6)

Question Stimulus :-

FrrafafEa so o aFyde yeat 3@ A fod T4 sgfaspal u=al o 98 fawew o1 999 S|

3t AR o B

A4 g 1 O IH A

Oi %9 d® Agd SIS, $9 WRaxdl & sia- 9
fagis #9, fagis #x

forr= et ward |er T

o e o aten

313t IR, IuS! FAffa St & 3rv-31v], HU-Hur | fAgig F g w0
AL We 9 e

UY FIHR TG &H T8I

faftr & ¥ W WY uew, 35U fFafa #t Sas= A
fagis 3, fagis #

(18)
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fawa Trr= I g

Q¥ ggl A ghm

A € UFY & 96 W ook g+ & she o
fasis o1, fasis o=t

w1 Sita =qdf a8

HTIRGT U] FT I §

39 s gef fRa 9, 3 a9 9, 3 a9 9
fasie &1, fagie &

g ¥ forg zfrs 2-

o T uTgATY

o WIHAT T Siiaq

o dRIfa o

o fame
Correct Answer :-RTHHdT $T sfta=
7)

Question Stimulus :-

FrafafEa sro o AFyde yeat S9e A fod T4 sgfasat u=al o 981 fawew o1 999 &< |

3Tt diRifa &d A

A9 81 @ $° TH HA

Oi %9 d@ Agd SIS, 39 WRaxdl & sita

fagie ®v, fagis +

forra et ward \er ama

T et § aten

3t IR, S9! FAftfa et & 3rvp-3rv], Hur-or A fAgiw F fags FA

(19)
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HAAHT e 9 T

UY] SR TEAT1 g4 gl

fafr & 7 wR WY uew, 39 fFafa ot Saga @
fagie ®, fagie +

fawera Tma=r T Bk

Qi ggl A ghm

AU g TRY & 96 TR SR Sl & e o
fagie ®, fagie +%

a1 Sita = a8

HTIRGT U] FT a1 8

39 Fewe gef Ra |, s a9 |, s a9 /@
fasis =1, fagis &

vward ATYET 9 HATe § aieEn’ Hdhd wdr &-
o 3Tddl o 3R
o oI PI 3R
o TSITdd B SR
o TUdT P AR
Correct Answer :-3eId3 &1 3R
8)

Question Stimulus :-

FrafafEa sro o wFyde yeat 3@ A fod 10 sgfaspat u=al o 98 fawew o1 999 &<

3 IR o
M4 8 df $© IH B
Ul &g db Tgd SIS, 9 URGIdl & Sitgd 9

(20)
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fasis =31, fagis o<1

o et ward |er ama

o drarei o aten

et 3TN, I@! FAfHfa St F 3rvp-2rv), Hu-Hor A fAEE B fasE FA
HAATH WET g et

UY] SR IEAT1 g4 gl

fafr & 7 R WY uew, 39 fFafa o SagA @
fagie ®, fagie +<

fawra IR T B

Q@ i ggl A ghm

AU g TRY & 96 TR SR Sl & e o
fasis #31, fagis #71

a1 Sita = a8

BRRT U] BT IT 8

AT gei e Q, s ae |, A aT |
fasie =1, fagis =

“faftr & AR 4G yed 7 ufdd T safeal 1 3R Tbd Hdl 82

Correct Answer :-HTgdrd

9)
Question Stimulus :-

FrrafafEa sro o aFyde yeat 3@ A fod 10 sgfasalt u=al o 98 fawew o1 999 S|

(21)
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33t i o w0

A4 B @ $O T HA

Y $9 db Ted SIS, 39 ARl & Siiad 9
fasiz =31, fagis #<1

o et ward wer |

o e o aten

Nt 3TN, I@! FAftfa St F 3rvp-23rv), Hur-or A fAEE F fagE FA
HAAHL e &4 e

UY] SR TET1 g4 gl

fafr & 7 wR WY uew, 39 fFafa o g @
fagie ®v, fagis +

fawera Tma=r T B

g9 T gt @ ghm

U g TRY & 96 TR SR Sl & she o
fagie ®v, fagie +

w1 Sita =qdf a8

HTIRGT U] $T I 8

AT el e d, s a |, A aT |
fasis =1, fagis =

7t W % R ghm-
o T & IRWND Thal
o ¥R P yfa w=h wida &
o TIw ot fafay weumai |
o I & URRYH 9 AT |

(22)
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Correct Answer -89 & URYT g AT89 A

10)

Question Stimulus :-

Frafafaa sroai @1 eaFgde Tea 39 i fed T4 agfawadt uxal o Ot fawey &1 999 #¥)

3t IR o B

A g 91 O TH A

Ul Hd 9P Fgd SN, S URGRdl & silaq I
fasie =31, fagis o<1

forra et ward wer ama

o e o gt

et 3TN, I@! FAftfa St F 3rvp-2rv], Hu-pur A fAEE F fagE FA
HAHT WET g et

UY] SR TEAT1 g4 gl

fafr & 7 R WY uew, 39 fFafa o Sag @
fagie ®, fagis +7

fawra IR T B

@ Tt gt @ ghm

AU g TRY & 96 TR SR it & shed o
fasie ®31, fagis &0

w1 Sitaq =qdf a8

ST U] ST 91 8

AT gei a9, s a9 |, A aT |
fasie =1, fagis =

STATY PT IUGad Wu® @8-

(23)
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o T I
o =i TR
o famieHn
o wifa HA
Correct Answer :-fagig #31

11)

Question Stimulus :-

ST &1 TRRT €T 2
* Ig P ARYH
e g IHEH
o T P A H
o TTH q PIS T
Correct Answer -3 & 3JRH
12)
Question Stimulus :-
T XTeg W WY SUH B-
o Td
¢ 3
e 3@
e 3@
Correct Answer :-3(d
13)
Question Stimulus :-
3T BIH-T Yeg GHGAESD T8l 872
o TN

(24)
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e U
o
* W
Correct Answer :-@WX
14)

Question Stimulus :-

e J foa zeg ¥ <3 Ug BT TGN g3 82

Correct Answer :-4f9&

15)

Question Stimulus :-
TS, BT BIR TSI TR BT 3 3-
o WX | Ul
o FreM A
o STYREI g
o iy yHe BT
Correct Answer :-@d¥ # TS-1

16)

Question Stimulus :-

3R & U JaT YeTaR BT 1 31 82
° URGT HAT
o Ag e

(29)
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o f9d® Q@ HH AT
o JUHTIAT BT
Correct Answer :-fdd® 9§ 19 a1
17)
Question Stimulus :-
TSt Pt TIPS AT HeTaRT o7 1 34 82
oYY AP B fodft &1 1 HI
o fopult 7 fopdft bR wfersT sr=TE Y@=
o T AH B
o Tgd 3R g
Correct Answer :-f&3it 7 foneft YR ufersT s=Tg Y@=

18)

Question Stimulus :-

f&d M areai & forg U 2reg &1 WA Fifore-
“Z ORI & g & AT 3 g&i &1 Arr>

o JThl~d
Correct Answer :-3T&HET

19)

Question Stimulus :-

f&d M T & o U 2eg &1 W Fifore-
«gTf~ BT 3TRIPT | IUA BIF ardm AT

e STdY

(26)
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Correct Answer :-83

20)
Question Stimulus :-
gt A gt & snyfie A&UN & MUR W Tg & TH (T I &I AT &I 31 98 D¢ DIA-AT 3 2
o gftie T
* HFP DG
o foqww a1fi® g
o H HIA® B
Correct Answer :-H&® ©¢

21)
Question Stimulus :-

WRON B T, gf 3R A & SuR R e A @ #9 3 ge g @
o ¥H 3R faww
o JH fauw 3T rHTH
o Iad 3R HIS
* HIYRT R FUSH

Correct Answer :-99 faud iR srgaH

22)

Question Stimulus :-

JHTR 4t 0 AagR & foe fra daifta wear arfge?
o fOI&R
o JUGH

(27)
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o TADIRY
e Udh
Correct Answer :-3dUlc®

23)
Question Stimulus :-

g o ¥ g ad=i &1 99 Fifee-

Correct Answer :-3JRRUI

24)
Question Stimulus :-

e ¥ q 3y aed=i &1 Tud P

® J[dPHIRI

Correct Answer :-3®&Y

25)
Question Stimulus :-
At & gufrs R E-

. frEr aTeR

. R

. T

(28)
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o goddleN
Correct Answer :-fagmufa

26)
Question Stimulus :-

gerited famraaf3eT $1 yT 3-
o 3afy
o T
o TR
o PRA
Correct Answer -5l

27)

Question Stimulus :-

A 9 e &1 yigars 8 8-

e Urdl

Correct Answer :-3X[¢

28)
Question Stimulus :-
Frear Fad | feae wafgard 8-
o PRW
o fafgan
o MY
o AT

(29)
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Correct Answer :-®19d

29)

Question Stimulus :-

Profufed & @ S @ T aga i

Correct Answer :-diar

30)
Question Stimulus :-

Correct Answer :-dddd

31)
Question Stimulus :-
ER o1 Wiy e &

. Gg+aER
Ui + 3eR
uIq + 3R

o TUid: +3GR

Correct Answer :-UIq + R

(30)
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32)

Question Stimulus :-
THRIOP T | faede 2-
o TH + T
. TR
o TH:+T[O
o TUT+IOT
Correct Answer :-a#: + 0T
33)
Question Stimulus :-
& # B A G g-
o Sufy
ot = fy
o YUIHEY
3raTfg |y

Correct Answer :-fa3f ©fy

34)

Question Stimulus :-

fru fafea 6 arwa= & & wyw 9 sifow ffia 8, v ot Sfua wu # sgafRua s
(1) fgha fowa g5 & k=

(T) HRA BT ATCHIAD TgART

R) foea & fag

(9) <t Ugd A 3 Wds g5 i

(q) T BT At gt

(6) & forg sitda wdia Tl

e gV¥d9dd
(31)
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e Jgddr

e ¥Yd9dd

® g4qdv¥d
Correct Answer :-¥9dd
35)

Question Stimulus :-
o fafaa 6 areizi & & wyw g sifaw fifYa € Av o1 Sfua wa & =gafR@ Fifvm)
(1) S 91w, 9169, PV, 4G,
(@) I TRER fawg o
(}) TH USR AT 3R Tae G gl
(9) TP WE gt uRkyui €,
(@) 96 31fe | TdxT oA WRT 7, 49 &
(6) TS YN & fRYT WA T U BT 8
e TAT
e TTTAX
o ddyx
o Jgdadqr
Correct Answer :-dqdv
36)
Question Stimulus :-
for ufda & srdeR uganfe-
a1 3frg wer favg, wra wify mifiw |
wfY 1S &R Ay fga our Riy vgdRi
o TUD

o WY

e IUTH
(32)
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e JHD
Correct Answer :-%0&h

37)

Question Stimulus :-
o ufd & SR TgaTfe-
faar foarst wiawr=r @t am gjs o are|
a1g I Riy o yu forat Sa1e Swra ||
¢« TP
e Y
o IaET
o yifom
Correct Answer :-YifaH
38)
Question Stimulus :-
o & & g are Bifew -
3P ANT JgT 3T T A
o gl 3% TN 3¢ §T A
e 3T T A T8T 3P @I
o gl 3T §Y & 3 @
Correct Answer :-3gl 3@ @ 3T g Y|
39)
Question Stimulus :-
g o ¥ g arey Bifeu-
o TSl & TN § 3uA RIR gora|
o I RR g ol F RN F |

(33)
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o R g WA ol F RN A |
o I Il & RN A R gopran|
Correct Answer :-38 TR=ull & TRUll § R geprar|

40)
Question Stimulus :-
g dfea &1 Sauur Fifs-
g BT AR 3Ud PS8, 3 W e aTal B ISAZAT A &Y M, fbg a8 Wewar 781 g1 st @
HfSTaT1 TP faaferd gt AT &, d STed] 81 U1 | 96 ad ¢ | AT agaq &1 oY 3 fp 9 oryey for ok
TEUA eI SHUPR ITY YP EI ST & 17

o g 3ifa TE

o 99 a1 v8d 9 v qu=

o T fi

o TH Y B E
Correct Answer :-37d &I 3id gl
41)

Question Stimulus :-
38 q P19-91 favey Tt il fawent | Y avg srem &2
* &g
o o
o TATHI
* @c
Correct Answer :-%¢

42)

Question Stimulus :-
AP Feg ‘foae’ & forg P & @ we o 78 ], 3@ 3f -

o TSIl

(34)
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Correct Answer -3l

43)

Question Stimulus :-

Frufafea sraiv-fads gl & & o1 Te g w761 &, 79+ $ifoe-

o fHf¥a-arfufia

. gEI

o firagra

o TN A PIS T
Correct Answer :-f3.gr e

a4)

Question Stimulus :-

Prafafed saeam-fdm 3 3 ) o1 te g a8 2, 999 i

o Hifa-w
o UTC-3MUTW
o IUTH-GETH
o T A PIE TH
Correct Answer :-UTt-3UT

45)

Question Stimulus :-

& g Tregl Bt Ao & ST H
o 3quf foRTH
o AUgT®

(39)
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o THT I
o Yue fas

Correct Answer :-915i& g

46)

Question Stimulus :-

& & wa "gTeTa ‘usIad’ & IRMdr H14 82
o IMUTRIE feTax
* goter
o Hfers gewig S
o SURIPR YA

Correct Answer :-Afti® ggwig S

47)
Question Stimulus :-
HU1 T DI GERTS B I fopet &2
o WA
o qUSHH
o UfsaRTer A
o yayfyd
Correct Answer :-Ha¥fd =
48)
Question Stimulus :-
CANCELLED
foer gora: e s fa e
o HEU

o Hfga

(36)
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o HYTAP
o IR
Correct Answer :-Mfad

49)

Question Stimulus :-

«HIAFRT AP T[T & TWTPR DI 82
o SUTH TG
o YTy ARTAY fiy
o HRESH

Correct Answer :-$RagR

50)
Question Stimulus :-

“URITR” BT 391 A A | Bi-A 72
o TR
o dfUd-aaTH
o Yg-faam™
o fovg-often
Correct Answer :-TITegel

51)
Question Stimulus :-

31 fRiaes ufeT &1 Jdure for =g A gaT 32

(37)
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o dar
Correct Answer :-S[deiq¥

52)

Question Stimulus :-

o ggeft &1 wEt IR gfe-
«IoR W, HIAT AR
o T I IR gAH
o THIT 3R FaH
o el 3R qard
o TTH A DI TE
Correct Answer :-&TTd 3R HaH

53)

Question Stimulus :-

e ugeht &1 HEt 3R gfe-
«ITt B FHY g, Hid FraR a9dd | IR 8 30 doa derd sidl 1

o JTPIRI
° W
o Tal
o TR
Correct Answer :-aI}

54)

Question Stimulus :-

PG BT Y a1t faewor gRTI-
° aj+3ﬁ+ S+ + 3

° 7:§+3ﬁ+!{+3{+3{

(38)
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LI +3ﬁ+q+ar+q+ar

° §+3ﬁ+q+q+ar
Correct Answer :-% +31 + g+ 3+ + 3
55)

Question Stimulus :-

G+ + A+ G+ T+ + 3 BT YK T F&YUT g

o FTH A BIE TS
Correct Answer :-gfdd
56)

Question Stimulus :-

fra & @ 915 To g FHr=RG 781 8, 9T S
o BB
o HULPHH
o HH-HH

Correct Answer :-Hul.&H

57)

Question Stimulus :-

e fapedl # wsg-g & - A &9 1 7T9d @2
o HATAI-HeUT = GEI g frerar-d faar
o Fifg-Feifa = THG-BIfA
* Jewr-afear - gfwrer-met

(39)
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o TRI-TET = AW e-Td a&]
Correct Answer :-Sifd-gdifd = THH-BAT A

58)

Question Stimulus :-

g A «urfvafYe” weg & THTAT 2reg &1 99 Hifore-

Correct Answer :-[R¥PRR

59)

Question Stimulus :-

Fruafefad e & @ Y@ifed weg & FaEndf 2 &1 99 Fifom-
«qaiea & gd fa=m I f1»

o JMfla

Correct Answer :-dTfHTgH

60)

Question Stimulus :-
TPel Tsg B AT e &
o 1% 3 forat &

o TP A Fel

o TP & forg a1

(40)
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o ATH Bl 3 st

Correct Answer :-ATd ot g foraa!

61)
Question Stimulus :-

1 W 31 Sarev E 3-

Correct Answer :-dgqd

62)
Question Stimulus :-
TST g BT TATH fawe 8 -
o T: g A s
o B: M Pl HHTGR
* B:3H4
o 99 | DI TE
Correct Answer :-: § -+ foras
63)

Question Stimulus :-

o aret F @ Fragaras are #1994 Fif-
* IE FEl 9 T2
* PUHT AT W
o A9 99 oTH R form 7l

o 39 TH aR fear sl

(41)
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Correct Answer :-87 J9 &TH &3 forar g1

64)

Question Stimulus :-
el ¥g BT 4 T
Swdad 9T § HI-7 9T 87

. ®darm

o ®H AT

e YT ar

o TTH A DI T
Correct Answer :-%d arA
65)

Question Stimulus :-

‘Agreement’ BT T fe=dt ard %—

* IJAUTH
Correct Answer :-3Jd4ux
66)
Question Stimulus :-

‘Inspection After Execution’ ®T 3[JdTg 82
o HUTGT & ST UT&0r
o froarEa & a1g Themn
o BT & Tq udie
o T A DI TR

(42)
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Correct Answer :-fAared & q1¢ udtequr

67)

Question Stimulus :-

«Ht TG TH Ta” Apifad o1 a1 A g2
o 3o W FREgaw umr
o TG TP T
o 3o ARt & fisar g=n
e I F AR AT T
Correct Answer :-§f@#H $ AR E A&

68)
Question Stimulus :-

«=f1 f&1 9 3reTs P> 39 APifad BT JA 32
o e} nifa @ e
o IO H BT FA
* Tgd SHfiP g
o THADIE TR
Correct Answer :-3gd & I

69)
Question Stimulus :-

« 3T AT A W Y grdl” Aadpifaa o1 Tt 3 8-
o 31 T & AeY | Pifa 3wt 3
o 3oy AT # a¥g o A gty 181 gt
* 3V Ha | JiTEl P W Teedt §
o T A DI TR
Correct Answer :-3ed AT ¥ a3 a4 I it 781 gt

(43)
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70)
Question Stimulus :-

fedt wrfeea &1 wyw weTHT -
* THHTI HETHTH
o geiRTel 3T
o THidqardt
o TH 9 B E
Correct Answer :-JadRTel 391

Topic:- General Knowledge
1)

Question Stimulus :-

Which Indian State is on the international boundaries of both Myanmar and Bangladesh? / P I
R 3T, WHAR 3R AR Q1 BT SaRIgia Wareii | o gan @ 2

® Mizoram / foreiRe

e Nagaland / AT S

® Assam / 3HH

* West Bengal / Ui e

Correct Answer :-Mizoram / fIR®

2)
Question Stimulus :-

The temperature of a cold storage was set at 5 degrees Celsius when it was empty. After
wards it was set at -15 degree Celsius when it was stpred up. What is the difference
between the two temperatures in Celsius? / T& 3Us HSRUI &7 aquE 5 33 I}ww w® 9 &1
T 59 98 @Tdt 41| 91 #, 39 -15 S AR w de fovar a1 o519 98 U1 311 41| Sl ar9EHl & §i"
T 3R 3?2

e 20

°* _10

* 20

(44)
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* 10
Correct Answer :-20
3)
Question Stimulus :-

Match the following and select the correct answer from the codes given below: / % Ca|

faeme 3R T 3T U Fisi & YR W I} IR BT I B

List-I List-I1
1. Mizoram a. Agartala
2. Meghalaya b. Imphal
3. Manipur c. Shillong
4. Tripura d. Aizawl
gfa-1 gfa-11
1. feim a. 3[R
2. AU b. FATA
3. "o c. Rrai
4. g d. 3msvid

® 1-d,2-c,3-b, 4-a

®* 1-d,2-c,3-a,4-b

® 1-c,2-d, 3-b, 4-a

® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
4)

Question Stimulus :-

A ball travelled a ft from the wicket. Due to misfield it travelled c ft towards the wicket and
gained another m ft towards the boundary. The situation is represented

/ T g 1 fadbe & a e ao $1| AAdles & SR IF fAdHe $1RE ¢ Be ao
aﬂaﬁvmaﬁwm m B¢ aF Ugd Tl| 39 IR ) 0 e #d &

® a—-c+m

® a+c¢c+m
(45)
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® a—-c-m

® am-c¢
Correct Answer :-a—c+m
5)

Question Stimulus :-

Which is the world’s largest living bird? / 'g'ﬁfcﬂ P I g8l shfad el &9 %?
® Eagle/ éﬂ?r
* Emu/4Yq
® Penguin / ﬁusq
e Ostrich / R

Correct Answer :-Ostrich / J[RY

6)
Question Stimulus :-

A polyhedron hasl6edges 8 faces. How many vertices does it have? / Th dgb P ¥ 16 fPAR 8 Ba® %’I
IqF fopa= pivr fig &2

° 12

® 10

® 16

°* 20
Correct Answer :-10
7)

Question Stimulus :-

The moon / I&HT:
® js the natural satellite of earth / t['«‘ﬂ:'f Cal tl'lq?ﬁﬁ? IUUe %
® has no atmosphere / W aIgHSd 8! &

® has no liquid water / UR &4 Sid T-I'(?r %
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e All of the above / SURIad It

Correct Answer :-All of the above / IURad ot

8)
Question Stimulus :-

Humidity can be measured by . / 3ATgn & GRT ATdY S gl B
® Hygrometer / Eﬁ'ﬂﬁ'lﬂﬁ
® Thermometer / YATHIEY
® Sismograph / draame
® Hydrometer / FE@TFET

Correct Answer :-Hygrometer / §TgUIHIER

9)
Question Stimulus :-

Which of these nutrients is not present in milk? / -1 Nyh dedl & A AL qr gy s | 'FﬁTrK q?f %?
e Calcium / HfeRraH
e Fat/ e
e Potassium / UIeiRAH
* Vitamin C / faerfie #t

Correct Answer :-Vitamin C / faerf=a Ht

10)
Question Stimulus :-

In the given diagram two parallel lines are cut by a transversal, find the measure of angle 4, if angle 7=20°/ f&A

T o # & YHIAY YWY U U GRT BTl TS §, D01 4 BT A9 fprfeg, afe ot 7=20°
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e 1700

e 160°

o 20"

e 180"
Correct Answer :-160"
11)

Question Stimulus :-

Where is Dwarkadhish Temple (also known as the Jagat Mandir) located / gIiv®mreher dfew (ﬁrlﬁ SITd
HfeT & am 9§ +ff ST ST € ) Fel A 82

e Rajastan / ITSTYTT
® Gujarat / [oRTd
e Karnataka / HHICH
® Maharashtra / HEIRTY
Correct Answer :-Gujarat / T[IRTd

12)
Question Stimulus :-

What is the mean of the first seven whole numbers? / YYH 7 T'lf TBAT3Mf PT HTH FIT 82

°* 7

Correct Answer :-3

13)
Question Stimulus :-

To which place did Ratan Tata decide to move the Nano Project from Singur? / Id+ CICI A AT ufaisET
o AR A v g R RFTaRd #3171 baar feare

(48)
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® Malanpur / HICTHYR

® Sanand / 9H¢
® Mumbai / gaé
® Chennai / ﬁsré

Correct Answer :-Sanand / 9¢

14)
Question Stimulus :-

An oven when sold at a profit of 5%, its selling price is Rs.8190. What is its cost price? / T 3fd- P 99 5%
Y TR AT T, ) ISP fAhT You 8 T 81901 ISP AN ST HT 82

® Rs.7500
® Rs.7000
® Rs.7700
® Rs.7800

Correct Answer :-Rs.7800

15)

Question Stimulus :-

Ranganathittu Bird sanctuary is loacted in which state of India? / Wﬁf@q&ﬁ ﬁ?ﬂ YRd & fog Ira & fRya %?
® Tamil Nadu / af¥a qarg
® Telengana /a?i'lTl_"lT
® Karnataka /m
® Andhra Pradesh / Gﬂﬂm

Correct Answer :-Karnataka / Bicd

16)
Question Stimulus :-

The graph depicts a four point star. The coordinates of the four points are / T AR ﬁg &1 dig
fe@mar 81 9 fagen & fd=nis §

(49)
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® A(0, -6), B(6, 0), C(6, -6) and D(-6, 0) / A(0, -6), B(6, 0), C(6, -6) 3R D(-6, 0)
® A(0, 0), B(6, 0), C(0, -6) and D(-6, 0) / A(0, 0), B(6, 0), C(0, -6) 3R D(-6, 0)
® A(0, 6), B(6, 0), C(0, -6) and D(-6, 0) / A(0, 6), B(6, 0), C(0, -6) 3R D(-6, 0)
® A(0, 4), B(6, 0), C(0, -4) and D(-6, 0) / A(0, 4), B(6, 0), C(0, -4) 3T D(-6, 0)
Correct Answer :-A(0, 6), B(6, 0), C(0, -6) and D(-6, 0) / A(0, 6), B(6, 0), C(0, -6) 3R D(-6, 0)
17)
Question Stimulus :-
In which state, Kakrapar nuclear power plant located? / BTHRTUR ATfHSIT Rfead Ta71, fra sy & fRya 32
* Gujarat / TOIRTd
* Karnataka / BIc®

® Goa /TNl
® Tamil Nadu / Gfa 1§

Correct Answer :-Gujarat / ToIRTd

18)
Question Stimulus :-

Manu has a plot in the shape of a trapezium. The distance between the two parallel sides
are 30ft and the non parallel sides are 90ft and70 ft., Find its area? / UJ & U J0dd &
THR BT TH WIE g1 &t iR Yolisil & & g3t 30 Wie § 3R RIHIMR YSIE 90 Wie 3R 70 Wi g, sUDT
aawa e
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® 4800 ft>2 / 4800 Pc2

® 1900 ft2 / 1900 Ppc2

® 240 ft2 / 240 P2

® 2400 ft2 / 2400 Ppc2
Correct Answer :-2400 ft / 2400 Hc2
19)

Question Stimulus :-

Where would you view the Ice Lingam? / 34 aﬁ? ¥ 911 foFmw 3’3}[' a@?f?
® Amarnath / 3HIATY
e Kedarnath / BERATY
® Rameshwaram / TI'ﬁ’HTFI'

® Mahakaleshwaram / mm

Correct Answer :-Amarnath / [AIATY

20)

Question Stimulus :-

The eastern coastal plains are also called / qsﬁ adig ﬁﬂ'Fﬁ' 3| qg ft el SIdl %:
® Coramandal coast /| PRIHSH dc
® Utkal coast/ Jchd dc

® Konkan coast/ BIBUI dC

® Andhra coast/ 38 AT

Correct Answer :-Coramandal coast / PRIHSA dc¢

21)
Question Stimulus :-

CANCELLED

A cylindrical water pipe has radius of 18 cm. The volume of the pipe can be calculated

using . / AP R U & gy & T 18 I @1 Uy &1

(61)
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3T BT YART B FBTar o IHdT g

® 2xwtx18xh
® 2xmtx18x18
® 2xmtx(h+r)
® nxdxh

Correct Answer :-2xnx18xh

22)

Question Stimulus :-

Where is India Gate located? / §1SdT e Pl (U 82
® Mumbai/ ga'é
¢ Kolkata / BIA®TdT
e New Delhi /S faeeit
e Gwalior / TTfeRIR

Correct Answer :-New Delhi / T8 feeeil

23)
Question Stimulus :-

A project can be completed by Sumit in 12 days and the same can be completed by Amit ip
8 days. How long it will take if both of them work together? / T uf¥dioHT gfid grRT 12 fei
H T8 FY o gt 3 3R 9} 3ifia grr 8 AN A gft Y o wanelt B1 afe 3 S Ay vl w5 @Y frae wwa
T?

® 20 days / 20 f&

® 12days / 12feF

® 4.8days / 4.8

® 10days / 10
Correct Answer :-4. 8 days / 4. 8 feq
24)

Question Stimulus :-
(52)
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Which of the following is a landlocked country? / % & & 19 a1 ¢%1 wivfieg 82
® India / YRd
® Bangladesh / ST
* Afghanistan / SRR
* Sri Lanka / dieisp1
Correct Answer :-Afghanistan / 3WRTIRITT
25)

Question Stimulus :-

Audible range for human ears / A9 $HI & AT Yo7 IR @

® 0-20Hz/0-203%H

e Above 20,000 Hz / 20,000 ma; DU

e 20 -- 20000 Hz / 20 -- 20000 3?571{

e 20,000 - 50,000 Hz /20,000 - 50,000 gé\_‘f
Correct Answer :-20 -- 20000 Hz / 20 -- 20000 Bi'\‘rr
26)

Question Stimulus :-

Identify the INCORRECT statement w.r.t the Mendeleev’s periodic table. / Hsdlld &t 3mad IRl & Jeu I
3 HYF DI UgaAIa |

® Elements were arranged in the increasing order of Atomic Mass. / dcd m—m & aa?r wa A
IafRyd fhd T 3

® Hydrogen was placed at the top of the first group. / FIE@FFT UYH qu & RER W a1 T 91|

® Elements with similar chemical properties were kept in the same group / THTT HEIRIBED '{[Uﬁ ¥ aq
A YU HE T ™ Y

® Inert gases were kept in the zero group of the periodic table. / 3rfepg A amad IRt & YA YU H
@t T A

Correct Answer :-Inert gases were kept in the zero group of the periodic table. / 3fera A 3irad AR
& Y U H 3@t TS A

27)
(53)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

Question Stimulus :-

Which of the following countries consumes more fish than any other country in the world? / fafaf@ad dg P

a1 ¢ @ ot fay & el W arw e P gar A i Hoeht # Tud B 22
* Japan / STUH
® Great Britain / 3¢ fae=
® France / Wi
® China / 99
Correct Answer :-China /
28)

Question Stimulus :-

Which candidate did the Republican party of US formally nominate in 2016 for presidential elections? / 2016 &

wufa g9 & T .99 & Rufered ga 7 siivarive wu 9 fPa Sefiear &t aifia faar a2
® Mike Pence / HTS® U
® Paul Ryan / 9fd ¥
 Donald Trump / SIS TH
® All of the above / JURTa HHt

Correct Answer :-Donald Trump / S¢S W

29)
Question Stimulus :-

Which of the following is an example of motion with uniform speed but non uniform velocity? / fadaa TS HH dTd
AP SRTHT AT BT IS S AT 872

® Motion of a stone thrown vertically upwards | H SR B fe=m H s T YR BI T
® Motion of a stone thrown horizontally / aﬁl\_ﬂ T T URR P fd

® Uniform circular motion / GhIHTA QEﬁ'q Tt

® Motion of a train starting from station A and stopping at station B /WTI@ P A S R A T R
Bl 8 SR WM B W Tdhelt §

Correct Answer :-Uniform circular motion / THIHTT qai g fd

(54)
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30)

Question Stimulus :-

Which of the following team has won the Ranji Cricket Trophy for 2014-15 in the month of February 2015? / o

# F o A A9 A 2015 BRAS & 7ENA H 2014-15 F forw uret e grw) st d»

® Gujarat / JOIRTd
® Saurashtra / ;ﬁ?'l'g
® Karnataka / FAlCH

® Maharashtra / 'FIFRTg

Correct Answer :-Karnataka / pIcP

31)
Question Stimulus :-

Which of the following Music Directors won an Oscar award in the year 2008? /
3 SaeRi § A 2008 T4 &7 3wy PR fHaA e fHar

® A.R. Rahman / ,3{R. YgHTA

® [layaraja / QCIARTGIT

e R.D.Barman / 3RR.3}. FH7

® Shankar Ehsaan Loy / THR AT ?ﬁg

Correct Answer :-A. R. Rahman / €.3[R. YgHIH

32)

Question Stimulus :-

Who won the Dubai Tennis Championship 2015? / 2015 ga'é of %ﬁ'ﬂﬁl’q # fHaq siar?
® Rafael Nadal / YWHgd ATSA
® Roger Federer /IR BER
® Novak Djokovic / Aa® Swifas

® Andy Murray /t"@ﬂ 'ﬁ%

Correct Answer :-Roger Federer / IR SR
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33)

Question Stimulus :-

Which petroleum product is used for road surfacing? / CaC k)| ﬂaﬁﬂm Sdlg 5P @t dg & ﬁl’({ ITIRT
oo wrar 82

® Coal tarlm

® Bitumen /ﬁiﬁ_"l'

o Concrete/ﬂ"ﬁ‘ﬂ?

® Petro chemicals / YRS
Correct Answer :-Bitumen / faga=
34)

Question Stimulus :-

IIFA-2016 was held in which of the following countries / IIFA-2016 &3 3=1 ¥ 3maifora far

® Australia / Gﬁm

® Japan / SIUH

* Spain /

* America / 3ARPT
Correct Answer :-Spain / &+
35)

Question Stimulus :-

Metal Carbonates on reaction with dil. acid release / EIT'g'EFTﬁﬁ?.' qdadd 3l & ATy Afuforar wR
e s &1

® Carbon dioxide /W mm

e Carbon monoxide / BTa HIFISATRITSS
* Metal oxide / YT ATFATSS
® Metal hydride / UTq 8IS SISS

Correct Answer :-Carbon dioxide / BTa STS3THATSS

(56)
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36)

Question Stimulus :-

Who among the following represented India in Gymnastics at Rio Olympics 2016? / 79 & & f&a= Rait
aflre 2016 # maRes # WRa &1 wfaffRea e

* Saina Nehwal / |13 Agara

® Dipa Karmakar / ST HRATHR

* Deepika Kumari / §f0®T AR

e Karnam Malleswari / &9 ATAY}

Correct Answer :-Dipa Karmakar / T UG

37)
Question Stimulus :-

Sohan is suffering from acidity of the stomach. He can get relief by taking / @?7-[ Ue &I 3FdT o W %I 39
e o Q@ a9 @ ed e It 32

® Magnesium Hydroxide AR F@Tﬂ'\‘lﬁg
® Citric Acid / ATSfe® 37
® Calcium Hydroxide / Carie| 3133'\['3'\“133

® Acetic Acid /Eﬁl’ﬁ?ﬁ BN
Correct Answer :-Magnesium Hydroxide AR E’IEQTW

38)
Question Stimulus :-

Who among the following tennis stars was the youngest to become World No.1? / g & Q 99 9 A R
fay o1 Ta8 $H 9 $T IS AR 97 UN

® Steffi Graf / W UTH

® Serena Williams / T faferawy

* Martina Hingis / HTf¢AT fEfRT

® Maria Sharapova / HIGT RTYET

(57)
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Correct Answer :-Martina Hingis / ATf¢T fER

39)

Question Stimulus :-

Who became the first woman member of the Indian Olympic Association? / P 3'%!17{ 3Nafus Q’@ﬁlﬁ?ﬁ Cal
Ul Al 9w 12

e Saina Nehwal / HIg-T ﬁm
e Nita Ambani /=T 3{aT=t
e Kiran Mazumdar Shaw / f= HIG[HGIR =T
® Priyanka Chopra/ T ?ﬁ'qu
Correct Answer :-Nita Ambani / <TaT a1
40)

Question Stimulus :-

Which of the following states is NOT on the border of Andhra Pradesh? / Ffu &3
DI T ST T U™ B T R AL 32

® Telangana / GERIEI

e Kerala/ W

e Karnataka / Hlch

e Tamil Nadu / T AT
Correct Answer :-Kerala /W

41)

Question Stimulus :-

Identify the summary equation of fermentation in the muscles? / UfRTal # fhvaa & wféra THiwor H yg=i=a?

* Glucose +Oxygen ~ Ethanol + carbon dioxide / T o1+ TR
— SUTATS + FId= SIEHFHSS

Oxygen — ST+ aiferforT lael SISHIFHISS + el

® Glucose + carbon dioxide +water /

« Glucose ~ lactic acid / T@Iel ~ FHacs 3
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e Glucose™ Ethanol +water / Tq®I 27 Arer + Tet

Correct Answer :-Glucose ~ lactic acid / Wﬁ = el 3

42)

Question Stimulus :-

In which country was the first Wikileaks Party established? / 5 %QT i | q??ﬁ ICCAGIEN] 1fI'IT:pF |
RITYT §5 2

United Kingdom / !]Fl'lﬁg fdren
Pakistan / T

Australia / Gﬁém

China / 94

Correct Answer :-Australia / (T erdT

43)
Question Stimulus :-

Who headed the 7" Pay Commission? / 7aa?|7'l STINT T 3 PIT UT?
e Justice P Sathasivam / WiReq W} gafkraw
® Justice AP Shah / SIf¥%e¢H U i} qATe
® Justice AK Mathur / SIRCH T & HIYY
® Justice N Kumar / SiReqd U PHR

Correct Answer :-Justice AK Mathur / SIR¢H T & HIYT

44)

Question Stimulus :-

Which of these bear zygomorphic flowers? / ffad g mﬁmﬁ? oA forTa Eﬁﬁ %'?
® Mustard / I3l

® Hibiscus /%ﬁw
® Datura/SgXI

(59)
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® Ppea/HCI
Correct Answer :-Pea/HcR

45)

Question Stimulus :-

“Don't be Evil” is the informal slogan of which company/ "Si¢ &t sfa@" & frg Hu=it BT SFTERG
WIRH 3?2

® Yahoo / UIg

® Google / [@Td

® Facebook / W
e Rediff / IS

Correct Answer :-Google / A

46)
Question Stimulus :-

Sugars produced by photosynthesis are used in making / UYhTRI TRAYT GRT I DT (A7 & FHwfor & Ugdd ﬁ?ﬁ

® Glycogen and starch / wnsaﬁvﬁ 3R HS

® Starch and cellulose / HS Gﬁ? mﬂ

® Chitin and glycogen / 3313'%:[ 3R TATSPIo

® Cellulose and glycogen /ﬁﬁ?ﬁ'\‘l MR mﬁlﬁ

Correct Answer :-Starch and cellulose / HS 3R IFAT

47)
Question Stimulus :-

When is World Red Cross Day celebrated? / fay Yswiy feaw s w=man \rar %?
e 6" May/6HS
* 8" June /6 5HA

* 6™ June / 6 5
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e 8 May/8HS

Correct Answer :-8" May /84S

48)

Question Stimulus :-

Where is the headquarters of Infosys located? / E'T'I'q”ﬁm ST ST ﬁ‘f@ﬁ %?
* Kolkata / SYCIpTdl

® Bangalore / AR

® Mumbai /'ﬂ.ﬂg
® Mysore / 'aﬂ?

Correct Answer :-Bangalore / STAR

49)
Question Stimulus :-

The main components of Gastric juice are-------------- /TSI & H©T 3fdad [ —
® Hydrochloric acid ,Pepsin, Renin / E@W 3T, U, ¥
e Amylase, Mucous, Lysozyme / Tf¥CISl, XeISHT, ATSHISITSH
® Trypsin, Chymotrypsin, Lipase / FH Y, mﬁﬁq} Fﬂgﬁ'\q

® Nucleases, Enterokinase, Dipeptidases / Wﬁlﬁ, Q'%ﬁaﬂm, :"ﬂgm
Correct Answer :-Hydrochloric acid ,Pepsin, Renin /F@ﬁﬁ_@ﬁ 3, &F&F‘L%ﬁq

50)
Question Stimulus :-

Rock cut temples in the Bagh caves were built during the period of ./ 91" qq»‘raﬁ H
TSI B PTEPHR I D He Azl 1 FAmtor &_1 forar Tar ot

® Satavahanas / Hddlg-

* Sungas / HUTH

® Guptas / W

® Marathas / HITST
(61)
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Correct Answer :-Guptas / &l

51)
Question Stimulus :-

Minimum Alternate Tax is a policy component of [ ~gAdH LD
L &1 Hifa-ges 7l

® Monetary policy / &I Hifa

® Credit policy / YR (HTH) Hifa

® Trade policy / PRITR Hifd

® Fiscal policy / foa ifa
Correct Answer :-Fiscal policy / fo=7 -ifar
52)

Question Stimulus :-

The Pehsari Dam is located in /m Y 'CI?\TJ @ %
® Bhopal / viure
® Indore / E_Ca?
 Gwalior / TR
® Ujjain / 350
Correct Answer :-Gwalior / TR
53)

Question Stimulus :-

The average of 6 numbers is 8 and the average of 8 numbers is 6. What is the average of both together? / 6

T@IT3i BT 3T 8 & 3N 8 W3 BT 3N 6 &1 S BT J1Y A fpa=m 3w g

(62)
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E.E
7
([ ]
5
7
[ ]
5E
7

Correct Answer :-

54)
Question Stimulus :-

Potential site for Cheetah reintroduction in Madhya Pradesh is the / &I e ¥ did | g-: ufefa e %ﬁ
HUTFIa R 81

 Nauradehi Sanctuary / “RR& I
e Kanha Sanctuary / wrer3dgd
e Bhind Sanctuary / f4vs sivrog

e Shivpur Sanctuary / Ry dg
Correct Answer :-Nauradehi Sanctuary / =Riegt I

55)
Question Stimulus :-

Rs.7810 is divided amongst Subitha, Batitha and Nabitha such that Subitha: Babitha is 1:2.
and Babitha: Nabitha is 3:1. What is the share of Nabitha? / 7810 ¥Uq &1 W1 & Jfaar, afqar v
afar & di" 39 UeR Fier T fr gfar: sfaar &1 U 1:2 8 wd afarnafar &1 sgura 3:1 81 Afar @
o faramn 82

e Rs 1500

e Rs 1300

* Rs 1400

e Rs 1420
Correct Answer :-Rs 1420

56)

Question Stimulus :-
(63)
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The Indian national anthem was composed by / YRA™T ?I'g']'q RIG| E:I% GIRT T T YT:
* Bankim Chandra Chatterjee / SfhH T TSt
* Rabindranath Tagore / JA5-TY SR
® Iqgbal/ghdlel
® Jai Shankar Prasad / ST X®x UHIG
Correct Answer :-Rabindranath Tagore / QST MR
57)
Question Stimulus :-
43 of 30 i / 30 BT 45 2
* 38
° 32
® 24
° 28
Correct Answer :-24
58)

Question Stimulus :-

Which Indian artist has won a prize at the 2016 UN Poster for Peace contest? /m YR $aTHR 7 2016 H
gUA UReX gRT AT G dieve § JSEpR oidi?

® Swati Kale / TdTfd BTel

® Anjali Chandrashekar / Jeifer dgRRaR
® Deepa Vedpathak / ?ﬂTIT am

® Chaitali Mukherjee / %?n?«ﬁ 'ﬂﬁﬁﬁ

Correct Answer :-Anjali Chandrashekar / 3iGifeT 95RRaT

59)

Question Stimulus :-

One of the oldest dams in Madhya Pradesh is / nwm%mgﬂﬁmtﬁ 7 W%
(64)
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Pagara Dam / TWTRT 97¢Y

Indira Sagar / sﬁv E3IRIES

Sardar Sarovar / WW

Rihand Dam / Rgg Tiy
Correct Answer :-Pagara Dam / WIRT €Y
60)

Question Stimulus :-

Remainder when you divide 916 by 23 is / 9 3(Tq 916 P! 23 ¥ fqHTiorg ®va & o w:
° 15
° 19
° 14
° 10
Correct Answer :-19
61)

Question Stimulus :-

First woman of Indian origin who stayed for the longest time in space is

. / RN 4@ @) el Afgar o 9a dd 9@ idie § @t A
Sunita William / g-Ttar faferan
Kalpana Chawla / S¢U-T Iraal
Marsha Ivis / ATRIT SMSfad
Chiaki Mukai / RIS g&18

Correct Answer :-Sunita William / gitar faferas

62)

Question Stimulus :-

The present ages of three persons are in proportions 2 : 3 : 5. Ten years ago, the sum of their ages was 30. Find their

present ages./ TAUT B o TR B 3R 2 : 3 : 5 FJUTT A 1 3T T4 UGA, AP 3R BT TRT 30 UT| TFAH
T ITBT AT J1d B
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® 36,9
® 6,915
® 12,18,30
® 15,30,45
Correct Answer :-12, 18, 30

63)

Question Stimulus :-

Who co-developed the Morse Code with Samuel Morse? / ﬂtg?r A & 91y 9 P feaq w-ﬁﬂ?ﬁ‘lﬁ

?

® A Graham Bell /¥ DI

* T A Edison /¢l T TSI

® Joseph Henry / IE g %q_\ﬁ

® Issac Newton / SISl Y

Correct Answer :-Joseph Henry / W% g8t
64)
Question Stimulus :-

Who was the longest serving President in the history of the United States of America? / W I ARSHT &

gfer & Wed 49 99T q% AaRd qgara B A2

e Abraham Lincoln / 3(STEH o

® George Washington / ST @IfRie

* Bill Clinton / {9 fde

® Franklin Delano Roosevelt / fﬁﬁ%ﬁ @v?ﬂ:ﬁ' W
Correct Answer :-Franklin Delano Roosevelt / P& (eI ST Foldee
65)

Question Stimulus :-

The ratio between the present ages of A and B is 5:3 respectively. The ratio between A’s
age 4 years ago and B’s age 4 years hence is 1:1. What is the ratio between A’s age 4 years

(66)
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hence and B’s age 4 years ago? / dqM # A 3R B ®1 31 T 3JUTd HHI: 5:3 T 4 A Ugd A P
3T 3R 4 AT 91 B $1 AT & S $T U 1:1 1 4 I 91 A DI 3 3R 4 TIA UgA B B Mg BT
3UTd T RIT?

e 1:3

2:1

3:1

4:1
Correct Answer :-3:1
66)

Question Stimulus :-

Which city is called the Tea City of India? / f&T 8R & URa &1 & R Fer1 war 82
e Dibrugarh / f&gTe
e Gandhinagar / TR
® Jaipur / SR
® Bangalore / TR
Correct Answer :-Dibrugarh / f&5Te
67)

Question Stimulus :-

Find the cost price of a dressing table, if, on selling it for Rs. 1,235, the trader gains Rs. 347. / U 3ﬁm dTd BT
AN YT FTd Y, IS S/ 1,235 FUC | 991 W ATURY DI 347 T BT ATH BidT gl

® Rs.788

® Rs. 888

® Rs.877

® none of the above / m ﬁé T-Iﬁ
Correct Answer :-Rs. 888

68)

Question Stimulus :-
(67)
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Who wrote the biography of Sonia Gandhi “The Red Sari”? / 4ifyar 1t @t sia '
Ye uidr frea feret @ 2

® Swaraj Party / RIS uTdf
* Tariq Ali / 9IR® 3ret

* Roderick / A&

® Javier Moro / ﬁﬁ'@tﬁfr

Correct Answer :-Javier Moro / Sifd@ AR}

69)
Question Stimulus :-

Fill in the missing alphabets / &I &R yf¥g

ba__bbb__bb__abb
® ab,a
® b,a b
® b,a,a
® abb
Correct Answer :-b,a, b
70)

Question Stimulus :-

Which among the following is at the apex of the tree tier system of Panchayati Raj? / fadas=

T IS B A T gorrelt & 2y v g

Rajya Sabha / XToU HHI

Lok Sabha / @@ JHT

Taluk Parishad / AT uftug
Zilla Parishad / foram ufRug

Correct Answer :-Zilla Parishad /ﬁl’ﬁT qﬁ'ﬂ?{

71)

(68)
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Question Stimulus :-

20% of 1000 is / 1000 T 20% 8:
® 400
e 300
® 200
® 2000
Correct Answer :-200
72)

Question Stimulus :-

Who among the following was NOT a Prime Minister of India? / fafefaa # A P9 YR & g T8
q?

e Shankar Dayal Sharma / X gard 34
® Charan Singh / T Rig
e V.P.Singh / dt. 4. Rig
* H.D.Deve Gowda / Td. S1. qd ST
Correct Answer :-Shankar Dayal Sharma / X are <A
73)
Question Stimulus :-
Which one of the following four addresses is NOT EXACTLY the same as the
one given below? / % IR tdl # ¥ 9 &1 4 33 T ud & THen
A 51 82

Painting and Pressure Washing

7816 Asheville Hwy
Spartanburg, SC 29303

(864) 205-3016

(i) Painting and Pressure Washing

(69)
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7816 Asheville Hwy
Spartanburg, SC 29303

(864) 205-3016

(ii) Painting and Pressure Washing

7816 Asheville Hwy
Spartanburg, SC 29303

(864) 205-3016

(iii) Painting and Pressure Washing

7816 Asheville Hwy
Spartanburg, SC 29303

(864) 205-3016

(iv) Painting and Pressure Washing

7816 Ashevile Hwy
Spartanbarg, SC 29303

(864) 205-3016

® jv
Correct Answer :-iv
74)

Question Stimulus :-

The Chairman of the Union Public Service Commission is appointed by? / 9 e AT TN & A& BT 9a-
foad g foran siraT 32

® Vice-President of India / HIRd & Wl'gqﬁl
® President of India / HIRd Q?Tl'gqﬁf

® Prime Minister of India / HTRd & TTHA

(70)
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® Ministers of union cabinet / W Wfﬂ_aﬁ
Correct Answer :-President of India / HIRd %?ﬂgcrﬁr
75)

Question Stimulus :-

Which state government in India has launched PEHAL programme for raising education standards? / HIRd G

ST WP A RIS TR B SUR I8 & ¢ "uga SriwHH o1 JURY fFar 32
® Madhya Pradesh /'FI'FI[?I%QT

® Himachal Pradesh /%WEI%QT

® West Bengal /trf%m CRIG]

® Arunachal Pradesh / GI'\"'UTHFI"Q%QT
Correct Answer :-Himachal Pradesh / fgHTIa US=T
76)

Question Stimulus :-

What was the value of the first banknote issued in Independent India in 1949? / 1949 ff, AT HRd gRI SRt tl?ﬁ
e 3T gea T U

e 1

e 2

e 500

e 1000
Correct Answer :-1
77)

Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the other three? / FuaR U A w9 @ Ush
919! A & THeH THM T8l 32

U.K Consulate General
Palais De Nations
154, rue de Lausanne

CH - 1211 Geneva 21
(71)
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SWITZERLAND

i. U.K Consulate General
Palais De Nations

154, rue de Lausanne
CH - 1211 Geneva 21

SWITZERLAND

ii. U.K Consulate General
Palais De Nations

154, rue de Lausanen

CH - 1211 Geneva 21

SWITZERLAND

iii. U.K Consulate General
Palais De Nations

154, rue de Lausanne

CH - 1211 Geneva 21

SWITZERLAND

iv. U.K Consulate General
Palais De Nations

154, rue de Lausanne

CH - 1211 Geneva 21

SWITZERLAND
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Correct Answer :-ii

78)
Question Stimulus :-

On 29th March 1857, Mangal Pandey attacked the British officers. Where this incident did take place? / 29 'FI'I?f 1857

¥, ¥ ures A fofesr srpaxt W gwen fan un, 98 gen wal ufed g8 9
® Nagpur / FTQR
® Barrackpore / SRHYR
® Chottanagpur / SIETFRTYR

® Chandpore / IGUR

Correct Answer :-Barrackpore / SYPYR

79)

Question Stimulus :-

The speed of a train is 54 kmph excluding its halting time. If we include its halts, and the speed be 45 kmph, then
for how many minutes does the train stop per hour? / WW ﬂﬁ, fasm T9g &1 Srer Wa?, Trfer 54 ft
ufereer 31 afe 8w 39 fagmal & anfira &2 o, sk afe nifa 45 et ufereer 8 Y Yams) vl s 6 A fopaq
fire & fog i 32

e 5min/5fFe

e 9min/9 e

e 10 min /10 ffFE

* 11 min/11 fiFE
Correct Answer :-10 min / 10 e
80)
Question Stimulus :-

Who was the last ruler of the Lodi dynasty? / @it a2 &1 3ifow e &9 o1

e Bahlol Lodi / S89d @lcl
® Muhammad Shah / HeH¥q RTe
* Firuz Shah Tughlaq / RIS =M ga®

(73)
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e Jbrahim Lodi / 3’@1'%1:[ @'QPI
Correct Answer :-Ibrahim Lodi / SSTGH &Id
81)

Question Stimulus :-

Prem bought 13 books for Rs.130. He sold the books at the rate of Rs.9. How much loss will be in the transaction?
/U9 9 FY 130 H 13 TXad WIS ITA TEB! $f T 9 B R § 99 foar| 39 i # 39 fHaqn
P gHI?

° 14

® 13

° 30

® 15
Correct Answer :-13
82)

Question Stimulus :-

Where is the headquarters of Northern Railways located? / o A Q9 A IR A ITW YA BT H8ITdq
fRa?

® Agra/ 3T
® Jaipur / SIAYR
o Delhi / R
® Punjab / USII9
Correct Answer :-Delhi / feeett

83)
Question Stimulus :-

Find the next term in the series -1,0,3,8, / ST § S[TeT qq ITd aﬁﬁnz -1,0,3,8,
® 13
* 12

°* 15
(74)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

* 17

Correct Answer :-15

84)
Question Stimulus :-

Which among the following is Young Fold Mountains of India? / Frafafea ¥ 9 f$a yra &1 o wics
Uda BT ATl 57

e Kangchenjunga / Sa-Tsidl

* Nilgiris / a3t

e Himalayas / fewrera

e None of these / 390 ¥ HIs gl
Correct Answer :-Himalayas / fR9rea
85)
Question Stimulus :-

Find the next term in the series. / 3Gl # 3ATEAT Uqg Jid aﬂﬁ‘rq

8,4,127?

Correct Answer :-9

86)

Question Stimulus :-

In a certain language *fil wil til'means ‘tell them now’ and ‘wil skel feil’. means ‘now and
then’. Then in that language the word ‘wil’ is used for: / f&3 @™ 49T # “fil wil til’ T Adaq
% ‘tell them now’ 3R ‘wil skel feil’ $T Adad % ‘now and then’| df 39 HTOT & U ‘wil’ ?N%? ﬁl‘l'{

YA §IdT ©:

® now

® tell
(75)
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® them
® then

Correct Answer :-now

87)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg e ﬂﬁ'&
S 23 T Fy=T 3R fAepuf & aR § I 8:

Statements: / $YA:

All pens are mobiles. / I HaH A9Ed 2|
Some mobiles are keys. / $© Hiasd TfIAr 3
Some bottles are mobiles. / T didd HEEd &1

Conclusions: / Ao

i. Some mobiles are pens. / $© WEEd A & |

ii. Some bottles are keys. / $© dlad a1fadr g1
* If only conclusion I follows / af¢ Fad sy | fFAreaar @
e If only conclusion II follows / af¢ Faa e 11 Feaar
e If both conclusion I and II follows / af¢ frsd 1 3% 11 G fApad &
® If none of the conclusion I and II follows / ?Jﬁ IR A @ H’ﬁ’é’ =ré’t Aeaar %

Correct Answer :-If only conclusion I follows / af¢ &aa fAswd 1 Apadar @

88)
Question Stimulus :-

In the sequence shown below, which figure comes next? / T fomrd 18 %y § SrTelt anvl?r cack:i| giil?

(76)
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Correct Answer :-

89)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 fase ﬂﬁ'&
o 33 T HyY 3R el & IR & I @:

Statements: / $YH:

All books are crackers. / W T&® U314 g |
Some crackers are nuts / $9 ToRE SERIT ¢l

(77)
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Conclusions: / fAwpd:

i.All nuts are books. / It 3R & g1
il.Some crackers are books. / $9 ysrd W gl

® [f only conclusion I follows /‘qﬁ Had e 1 Feddan %

e If only conclusion II follows / gfe FHad e 11 e %

* If both conclusion I and II follows / af¢ s 1 3R 11 giHY Rwad &

e If none of the conclusion I and II follows / af¢ AR A a H'ﬁ'sc T8l e %
Correct Answer :-If only conclusion II follows / gfe Faa ey 11 Apadar g
90)

Question Stimulus :-

Jacob, who has no brothers or sisters, says, ‘John’s mother is the wife of my father’s son.” How is John related to Jacob?

/ SoTe, Rrad B YIS a1 967 981 & Fedl ¢, & DI qra1 X far F 3 A ud 21 S SApra @
9 "dfta 82
* Son / eI
® Grandson / TrdT
® Son-in-law / qIHTG
* Nephew / HdlSIT
Correct Answer :-Son / ST
91)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 fawea g
i f&d T FYAT SR fFrspul & IR # WEl 8

Statements: / $Y-:
All flowers are pink. / 9 B& Tara &

All pinks are paper. / ﬂﬂ-ﬁﬂ?ﬂﬁm?l

Conclusions: / fAwnd:
(78)
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i. Some papers are flower. / P DN Pd gl
ii. Some pinks are flowers. / $9 ﬂ?I'ITxﬁlgg_cT gl
® [f only conclusion I follows / afe Faa ey | Reaar @
e If only conclusion II follows / Tlﬁ Fad e 11 fAeadar %
* If both conclusion I and II follows / af¢ s 1 3R 11 Y Fwad &
e If none of the conclusion I and II follows / af¢ fepdrsiRIA Q@ aﬁs‘ T8l e %

Correct Answer :-If both conclusion I and II follows / af¢ s 1 3R 11 g Frpard &
92)

Question Stimulus :-

# N means that M is the brotherof N /M # N ®TAdAd g f& M, N BT HTS ©

X N means that M is marriedto N/ M X N &THdad ¢ f& M, N ¥ 91d}-3e1 8

M
M
M $ N means that M is the motherof N/M $ N &1 Hdqd ¢ f& M, N &1 dra1 8
M

= N means that M is the sisterof N /M = NSTAdas & fF M, N $1 987 2

M > N means that Misthefatherof N/ M > N WW%%M,N%W?

If the relationship R and M is represented asR # S XT $ P =Q > M, then, which of
the following is always TRUE? / AR RN MFP T FTHEYR # S X T $ P =Q > MT

&ITar T4 3, o, e | @ i a1 gem | g

® R is the maternal uncle of P. / R, P * 'Fl'l'FIT%'I

® Tis the grandfatherof M. / T, M & EIET%'I

* Sisthe father of Q. / S, Q & fuar g1

* M is the grandson of both S and T. / M, S 3R T &I &1 Uld1 &1
Correct Answer :-S is the father of Q. / S, Q & fUar g1
93)

Question Stimulus :-

Select the statement, which is the logical equivalent to the statement given below: / dg

FYF A & 9 $1 =@Re A A T FYT F U €

If the shirt is white, then you have washed it with detergent. / af¢ S T¥hg 7, df gHA 39
fSesle ¥ T 81
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® If your shirt is not white, then you haven’t washed it with detergent. / af¢; ﬂ'l%'lﬁ IS g g1 %, ar ﬂ'ﬂﬁ' 39
fSecle & =gt ukn 31

® |f you haven’t washed the shirt with detergent, then it is not white. /'*.Tfa' Q'Fﬁ aﬂ:ﬁﬁ fEcsic @ qﬁ' %m, a
98 b 81 8l

® |f you have washed the shirt with detergent, then the shirt is white. / !T% T:[Hﬁ aﬂ:ﬁ\_ﬂ %Eﬁ? 3 :rEﬂ %ﬁ'lﬂ,
o HHI g gl

® None of the above. / SURIEd aﬁ'é' T-Iﬁ

Correct Answer :-If you haven’t washed the shirt with detergent, then it is not white. /Tl'ﬁ' ﬂ'ﬂe[ ?bTﬂTr[

fEesie & 78 <4, ot a8 e 151 3|

94)
Question Stimulus :-

Six members of a family are sitting around a table for lunch. U is the brother of Q. T is the
brother of R. P and R are a married couple. Q is the son of R, but R is not the mother of Q.
S is the daughter of P. / TG IRAR F DE I TP AW S NS da S T IS EI1 U, QFT WS B3I T, R
PT UTE 21 P 3R R AEI-Y[ST WIST 31 Q, R HT 3T §, AP R, Q Ft U1 T8I 31 S, P B a4t B

Who is the mother of Q? / Q &I HIdT ®IF 82
e p

®* R

e T
Correct Answer :-pP

95)
Question Stimulus :-

Select the statement, which is the logical equivalent to the statement given below: / dg

HYF YA S 9h F 2R A A T vy F A €

If you use pencil, then your handwriting will be good. / gfe dH & dH DI AT Hd ?f, al deRT
33T g

® You used pencil so your handwriting is good. /'g[qﬁ HAH T YN fHar % Wﬁﬂl LR mﬁa 33T
]
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® You didn’t use pencil, so the handwriting is not good. /ﬂ'ﬂﬁ HAH BT TN T'Iﬁ ﬁWT, Eﬂﬁl’r{ Bﬁa@
33T a1 Bl

® Your handwriting is not good implies you didn’t use pencil. / FIRT m 3T qﬁ % DI Hddld % ﬂ'qﬁ'
HAH BT WA 81 fpan|

® None of the above. / SURTa ﬁs‘ T'I'E‘T

Correct Answer :-Your handwriting is not good implies you didn’t use pencil. / FRIRT m 3T qﬁ %
PT HAAd 8 U ST ST TANT 81 |

96)
Question Stimulus :-

Which of the following is the mirror image of WATCH? / fadaa I HT WATCH &T E'l'fUT yfafara %?

NVIOH
MI'NCH

MVLCH
WVLOK

MVLCH

Correct Answer :-

97)
Question Stimulus :-

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word

will be: / T 7% ¥, UgQ Wsg FT g g & 1Y 5 YR A $5 Wy 31 9 AR I ST I F
Y I UHR FHT AGY AT T1RY, df AT Ieg T

GRASS : GREEN : : SKY : ? / U : B :: 3 : ?
e HIGH /3T
e STARS /AR
e BLUE /i@l
e CLOUDY / qTGal
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Correct Answer :-BLUE / Atdl

98)
Question Stimulus :-

In how many ways can 4 boys and 3 girls sit in a row, if two boys sit always together? /TI'%?[ WWW?‘[

¥4 gl al 4 gao Td 3 afaal @ foran ueR A ve ufea A So1ar o gear 82
* 1440
* 2880
* 5760
e 1200
Correct Answer :-1440

99)

Question Stimulus :-

Five children are seated around a round table while having lunch in a school. Amrit is to the left of Mukesh,
Neeru is to the right of Subhash and between Subhash and Rajesh. Who among the children is seated to the right

of Rajesh? / UTd 9= ¥ dl § @9 W4 IHYT TP MATHR A9 & I fyerd ma 81 smufva g & ardt
%m%,%gm%a@&h%aﬁ?gmam%aﬁaélaﬁﬁﬁﬁﬁm%wmﬁmw

® Amrit / 3ryfyd

® Mukesh / aﬂm
® Neeru / =

® Subhash / JHTY

Correct Answer :-Amrit / AT

100)

Question Stimulus :-

The question is based on the following arrangement. / U4 g sgawir w enuia %I
WI1R%4JE#7MT219BH3A$9FQ5DG6USP

Which of the following is the 7th to the right of the 18th from the right end? / @ # @ &1
o1 orlf 3R & 189 & g 7471 82

* A
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Correct Answer :-$

(83)
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